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1101[XK1E EE 125 1250 0 1250 10 0 0 0 1080 0 5
EE 20 300 0 300 15 0 0 0 0 1080 0
(&) 145 1550 0 1550
1121|545 & 5 50 0 50
1141[54R BmE 9 45 0 45 5 0 0 0 3240 0 864
S 4 40 0 40 10 0 0 0 0 1728 0
(&) 13 85 0 85
1201|833 E% 83 1245 0 1245 15 0 0 0 2376 0 540
GhH 83 1245 0 1245
1203|F ¥ AY HE 20 200 0 200 10 0 0 0 0 1296 0
BHE 148 2220 0 2220 15 0 0 0 0 810 0
EF 67 670 0 670 10 0 0 0 1728 0 972
f=134 49 735 0 735 15 0 0 0 0 1053 0
& 284 3825 0 3825
1204|GiR—JL  |EH 34 340 0 340 10 0 0 0 1026 0 648
) 34 340 0 340
1205[[F5NAE GH 30 120 0 120
1207| & & Eh 1030 103 103 0
1209| B & JLiEE 4 20 0 20 5 0 0 0 0 2106 0
[E)) 4 20 0 20
1221|=vE [&0) 14 20 0 20
1227|7K% & 175 35 0 35 0.2 0 0 0 119 0 97
(&) 175 35 0 35
1245 IR EE 410 164 164 0 0.4 140 0 92 0 0 0
(&) 660 214 164 50
1301 |FF EE 1 5 5 0 5 0 540 0 0 0 0
=) 94 47 0 47 0.5 0 0 0 248 0 151
e 19 76 0 76 4 0 0 0 2160 0 1620
#mE 32 160 0 160 5 0 0 0 2916 0 1836
Eh 169 400 5 395
1311[F<F I 2 102 408 0 408 4 0 0 0 3672 0 2700
Eh 102 408 0 408
1321 |8 ZiE 44 220 0 220 5 0 0 0 2484 0 1728
Eh 62 310 0 310
13B1E—<> [EE 1650 248 0 248 0.15 0 0 0 135 0 130
Eh 1650 248 0 248
1355|495 (&) 80 8 0 8
1501 [ H & S 37 185 0 185 5 0 0 0 1620 0 864
(&) 37 185 0 185
1521| B iz 3 30 0 30 10 0 0 0 0 5400 0
(&) 3 30 0 30
1603|)L)— [REH 5 50 0 50 10 0 0 0 3780 0 2916
(&) 5 50 0 50
1609|70val)  [EF 9 54 0 54 6 0 0 0 4212 0 4104
(&) 9 54 0 54
1611[LAR R% 10 100 0 100 10 0 0 0 2916 0 2700
(&) 10 100 0 100
1612 Y=L 2R |[EF 5 25 0 25 5 0 0 0 0 2160 0
(&) 5 25 0 25
1627[S=F<hk [&D) 24 5 0 5
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1705| T A= =0 720 58 0 58 0.08 0 0 0 0 56 0
= 6 24 0 24 4 0 0 0 0 3456 0
GhH 730 98 0 98
1715| K3 = 20 2 0 2 0.1 0 0 0 648 0 378
GhH 20 2 0 2
1803 | E EE 450 45 0 45 0.1 0 0 0 130 0 103
=) 180 18 0 18 0.1 0 0 0 0 109 0
& 180 36 0 36 0.2 0 0 0 77 0 66
GhH 810 99 0 99
1807|#8E =% 100 10 0 10 0.1 0 0 0 0 48 0
f=554 750 150 0 150 0.2 0 0 0 0 78 0
& 850 160 0 160
1809[L&L EH 350 35 0 35 0.1 0 0 0 0 50 0
E& 1950 390 0 390 0.2 0 0 0 89 0 81
(&) 2300 425 0 425
* S FAET * 17208 19852 441 19411
2103 | BEHMA [FNFRL 50 500 0 500 10 0 0 0 3672 0 2484
GhH 50 500 0 500
2205|282 a5 68 680 0 680 10 0 0 0 3456 0 2160
(&) 68 680 0 680
2421 | PR &R | F0F3l 2 15 0 15 7.5 0 0 0 4428 0 3888
(&) 2 15 0 15
2611 |EA—2  [El 32 13 0 13 0.4 0 0 0 400 0 356
(&) 32 13 0 13
2616|]S<AAL _ [ELL 2 4 0 4 2 0 0 0 0 2808 0
[ 2 10 0 10 5 0 0 0 0 8640 0
(&) 4 14 0 14
2821 |FEER RE 120 48 0 48 0.4 0 0 0 508 0 475
EE 348 174 0 174 05 0 0 0 410 0 281
(&) 468 222 0 222
* S FEET * 1248 2888 0 2888




